3

ARSEL/

FAEERE : BT XUEH

MB1K %5

032,

240, 250, 063, 280, o100

BSRTAIE

MB1KIL]

32 50

M9BW

- — f—
e MDB1K[L]32[ ]-[50
liT%IJ%m%
R ERER 2 IP.346,
REAR
B EAR %
L e IR BT RN
F FESE 25 FiEs | 24
G TR = s [ 14
c EERE 3 [ 34
D WEIREY n n4
flize oTLMETF R EL S
32| 32mm (iR | Zmnmxt |
40| 40mm MBS RN SH TRER,
50 50mm
63 63mm
80| 80mm OSBRSS
100] 100mm Fr =
. , , . J
& QRS o e L e
Figs | Rc _ s mymyen
TN | NPT 17#E(mm)e SEh i,‘}i? ﬂwg% 24
T | G 5P 346 EFTRR, : ESEN
BESEMHE, ﬁ;zg;mﬂ
AERENBNETE ML, MAAKEM,
RNEWINSERNE S f.:z’ 040146mm . 050, 03B . 080, 0100
WERATUEF LGB BT £ Fiomm.
REMIE S HEILE.
(#51)MDB1KB40-100
18 S TE M TF 38 (e 77 B 46 RAAE 5 TUP.1263~1371, )
i = ABBE ) Er ) i
\ CEEIE | . = SR
T R BE Sl = P 05135220 BARE
% ; 5 5 5 3
x |h oc B B e O I i
3Z(NPN) MONV | MO9N | @ [@|®@|O| O
_ 3E(PNP) sv.12v MOPV | MoP | @ |@|e@|O| o | '°F#
z 2% 12V MOBV | M9B | @ (@ |®@|O| O -
B 3Z(NPN) MONWV | MONW | @ (@ [@ [O] O ,
W | wwsreesn) | amess|s] 38EWw) | 2y [V [MePWV| MoPW | @ (@@ [0 O |'0PH | AuE
5 2% 12V MISBWV | M9BW | @ (@ [@[O[ O -
A 3Z(NPN) v 12V MONAV [ MONA | O [O|@ O O | ..
Bk 3R (e 157 3% (PNP) : M9OPAV | M9PA | O |O|@|O] O
25 12V M9BAV | M9BA | O |[O|®@|O]| O -
3%
5 wren | - 5v - A%V | A% | @ |-|@|-| - |icEx| -
B _ gt | 7 [ EENPN)
¥ I VS oav | 1ov 100V A93V A3 | @ | - |@|-| - — | ke
x B 100VILT | A90V A90 o -0 - - ICEg | PLC
HSEKETS 0.5m FiZE  (BIMONW SO AR RMTT % FRIT 5 =
im M (f51)MONWM
3m L (f8)MONWL
5m z (5)MONWZ
SHBARESSN, JETRREMUMITXS P50,
X SR BIESL AR FF ¥ P. 13281329,
M ERE B (RA%).
345

O
3

Best Pneumatics 2 1

AEBEHEIE
- (NN ™| =

H?

QIO
(BB
N|[=|N



MB1K %37

g
H1E(mm) 32 | 40 [ s0 | 63 | s | 100
HEAR BARER
{ER K =5
it EiX R E S 1.5MPa
maERESN 1.0MPa
BEERESN 0.05MPa
N TREMEFF % —10~70°C (B R K L
R AR TR o )
WwHEMEFF X —10~60°C (R4 4)
“Aih R
JISEEHFS
ERfAS EEERE 50~1000mm/s
) TIEKERAE ~250 0%, 251~1000 :*3*, 1001~1500 : %3
B EFM (K& H)
#0072 (Re.NPT.G) 1/8 1/4 3/8 112
Order 1 < 1 3 AL g
Ve | ST R RRNEEE AEED MER
~SE (i%11P.1373~1565,)
%78 Wi/ RE 032, 640 0.5°
—XAC] | FF TR EE HAR B 250, 063 0.5°
—XC3 |BOMIE-REHK 280, 2100 +0.3°
—XC6 | M EFHN 232 0.25 280 0.79
RAT, BOm iR TR RER S B4 H%E 4 4 1
—Xe7 | N miLE 240 0.45 2100 0.93
—XC8 | I nfrE Al i AR _ 059, 283 064 - -
TXCo | RpEAL AR SD)EAHLIIRIR (TR 5 B AFTE R R — .
TR RERE FERARGERT, £EENE,
—XC10 | WATRR S/ AT R
WEIRAH . WAHEL AN q
—XC27| i m R P
—XC30| AN EHE AW ENE PR sxn | wew | S0 | T lemmn | neme
—X846 | 1B XE K FEEFRREDE L “a= i
X iR [ ] [ ] { ] [ ]
ERE ” ® L
EIRFHEH — — — — — [ ]
SRREERE B Rk [ ) [ ) [ J [ J o o
P . WAL
4172 R | e ° ° ° ° ° °
(mm) 32 40 50 (5 5 %)
N RRE MB-L0O3 | MB-LO4 | MB-L05 DiEiE [ ® (4 ® ® [
s MB-FO3 | MB-FO4 | MB-FO5
FEIF MB-C03 | MB-C04 | MB-C05 e 1o
WE MB-D03 | MB-D04 | MB-DO05 IRAETTIER FAIPEM R
y & e 51 B AR
P 442 o cs; PR EM R ReHERE
(mm) 63 g0 | 100 (mm) ) J AN 70¢
AN MB-L06 | MB-L08 | MB-L10 32 | 25 50,75 100, 125, 150, 175, 200, K it #A AR #110°C
= MB-FO6 | MB-FO8 | MB-F10 250, 300, 350, 400, 450, 500 MEMHPERARNRSHEEE.
R MB-Co6 | MB-CO8 | MB-C10 40 | 25 50.75.100,125, 150, 175,200, .
NE IR MB-D06 | MB-D08 | MB-D10 250, 300, 350, 400, 450, 500 fiﬁ?m II:H j] %
;;;E%gg;;g%gﬁﬁﬁ% e MET/ A 5o |25 50,75, 100, 125, 150, 175, 200, 7EOUTHIRYE S BATRAEF 2 — .
GREARET. RER/ BAGLERRST. FHA 250, 300, 350, 400, 450, 500, 600 BENNHERTEN, SATX.
. FO¥ERTEE, 2RP.339, 4 =, 4 =
. g3 | 255075100, 125,150, 175, 200, LR fiﬁ;’n‘ Gl Xiﬁ;’q
250, 300, 350, 400, 450, 500, 600 () (Oe) () ()
32 675 63 2804
go | 255075100, 125,150, 175, 200,250, 20 1082 30 4568
300, 350, 400, 450, 500, 600, 700, 800
50 1651 100 7223
25,50, 75, 100, 125, 150, 175, 200, 250, BEH A(N) = £ 1 (MPa) x % E AR (mm2)
100 | 30, 350, 400, 450, 500, 600, 700, 800

HH MR B %S I —P.349. 350,

BT R KRR NTRE
B XREEREME(FTRRGE S )R
RESHE

HIESEE
REMGRABS

346

) f7 A th RE 1
(MEFARR. )

O
2

Best Pneumatics 2 1



erram/armersiwes B 1TK &35

)ﬁ%i (kg)
#1912 (mm) 32 40 50 63 80 100
HoA R 053 | 069 | 126 | 1.58 | 269 | 3.86
B EE R 065 | 083 | 1.48 | 1.86 | 319 | 452
BEARRE SEER 082 | 1.06 | 1.69 | 237 | 414 | 7.17
HHIEE 078 | 092 | 160 | 221 | 3.8 7.03
WE IR 079 | 096 | 1.69 | 237 | 4.09 | 7.55
FEOMMTRIE NN GEE | SBREH 016 | 021 | 033 | 037 | 056 | 0.72
Wit B 015 | 023 | 026 | 0.26 | 0.60 | 0.83
WL (ESEH) | 022 | 037 | 043 | 043 | 087 | 1.27 CJ1
WWEAE
#)MB1K32-100 (&4 E/032,100st) CJP
OE AR
O NRE
v CJ2
0.53+0.16 x 100/50=0.85kg
CM2
CG1
Reranl p
e E @
20200067 Il
1:@ CA2
%1{YMBK32 CS1
/’ T CS2
O SE: =
A-A' [EHFTHIE R — e N
|
B EH
No. ZIR MR =T No. B MR #iE
1 G %8 T HL A0 R 13 | iHEER LR
2 | THMESE %48 T L4 T 14 | HERE B3
3 | HH EEe ERAREL 15 | EEIRET WL
4 | EEH TEHR 16 | FriRIEE N FIR
5 EE BEE HwRE 17 | TEER #iBE
6 ZEHEA ELIRN 18 | BHEHE ES A
7 | B4EB 4L3R5N #19 | FEEHE NBR
8 | AEESEE BRESHES %20 | AETIHE NBR
9 | &4 e R 21 | BEEEHE NBR
10 | iR HEN 040~0100 w02 | FIEFREIIE NBR
11 | f# iR HERE 23 | EEREHE NBR
12 | HFTIRE ] R
Wit/ EHEAY
ae EUETE mE
32 MBK32—PS
40 MBK40 - PS =
50 MBK50 — PS ®.19.2 @
63 MBK63 — PS H—
80 MBK80 — PS
100 MBK100 —PS
KEHE18~20 220 — A IREIZHEFESITH, D'D
¥ | 4EL 1§ 75 78 5 £2.(082~50.5 109 . 063 . 80209 . 01004 30g)
CEBEELENDS BRETIIRS,
jEaAg R 2 . GR-S-010(10g) . GR-S-020(20g) -XI:I
HESEAMERT HEAE, ’l;(yl“::'ll
FEEEMNTHMEGE it HRE S, 032 0401%6mm 050 0631#8mm, ¢80 ¢100#10mm, =
AR
B
347
4 SNC

Best Pneumatics 2 1



MB1K %37

FRAER
AR /(B)

gl WV_ B0

N
)

\ "
77 @ 1T 1T ( B . - T I - 0 m
} al
N
HHEE |t e = R — — =l . ?j
\ S &,
MB B'
BREY 16 2x4xJ —
A F N N
H S+i7ie c
2Z + 1772 B
B-B' 4 T
H1Z 71 BRIRLL
(mmm) e e 2% | A|B|C|E | F |G |H |MB J MM N|P|S|V|W|H]|zz
32 ~500 19.5 12.2 22 | 46 |32.5| 30 13 | 13 6 4 M6 x 1 M10x1.25 | 26.5| 1/8 | 84 4 6.5 | 47 | 135
40 ~500 27 14.2 30 | 52 | 38 | 35 | 13 | 14 8 4 M6 x 1 M14x1.5|265| 1/4 | 84 4 9 51 [ 139
50 ~600 32 19 35 | 65 |46.5| 40 | 14 [155]| 11 5 |M8x1.25|M18x1.5| 31 | 1/4 | 94 5 |10.5| 58 | 156
63 ~600 32 19 35 | 75 |56.5| 45 | 14 |16.5| 11 5 |M8x1.25|M18x1.5| 31 | 3/8 | 94 9 12 | 58 | 156
80 ~800 37 23 40 | 95 | 72 | 45 | 20 | 19 | 13 5 |M10x1.5|M22x1.5|375|3/8 | 114 |11.5| 14 | 72 | 190
100 ~800 37 27 40 (114 | 89 | 55 | 20 | 19 | 16 5 |M10x1.5|M26x1.5|375|1/2 |114 | 17 | 15 | 72 | 190
348 Y
S SNC

Best Pneumatics 2 1



BT K Z e vl RERY S/ VTAE

exwsa MB1 #51

(mm)
BT ERS BT AR EH 032 | o040 | 050 263 | 080 | o100 | o125
2N (7 E . F—H) 15
DSAIE] 14 15 10
D-A9[ |V
np 15+10(n—2) \ 15+15(n—2) [ 15+20(n-2)
2/N(FE . F—H) 15 10
DO 14 15 10
D-M9[ ]V
n4 15+5(n—2) 10+10(n—2) CJ1
g'mgﬂwv 2N (RE . [F—M|) 15 10
-M9[]
D-M9JAL 11 15 10 CJP
D-M9[JAVL n/p 15+ 10(n—2) 10+10(n—2) [ 10+15(n—2)
2N (RE . [F—m) 25 15
D-Z7[] 14 25 15 \GJL
D-Z80
n4 25+ 15(n—2) 15+15(0—2) | 15+20(n—2) CM2
2N (FE. FE—@E) 25 15
D-Y597/Y69[] - N o s
D-Y7P/Y7PV CG1
nA 25+10(n—2) 15+10(n—2) | 15+15(n—2)
2/N(FE . F—H) 25 20
D-Y7[OW N o5 20 MB
D-Y7[ WV
n4 25+ 10(n—2) 20+10(n—2) | 20+15(n—2) m
24N (FE . F—m|) 30 20
D-Y7BAL 14 30 20 c A2
n/p 30+10(n—2) 20+10(n—2) | 20+15(n—2)
$1)n=3,4,5
)R hE B 4hEL, CS1
. A\ﬁ.-—l—-g A 4=z10 T A S b r csz
TR SEREME((TERIGENMH) REESE
T
=18
) i
(=) T
T 1© }—I
U
B
BT REENREME (mm) WX ZESE (mm)
HhEFFX D-M9[] v BT
ws|  D-MOOV e zs| DALV D-M9V
D-M9[ W D-A9[] D-Y69[ ]
D-Y7P/Y7PV D-M9[ WV
D-M9[ WV D-A9[ |V D-Y7PV
D-Y7[OW/Y7[JWV D-M9[JAVL
D-M9[ JAL D-Y7BAL D-Y7(WV
D-M9[ JAVL "
FAEE A B A B A B iz Hs Hs
32 9 6 5 2 4 1 32 27 30
40 9 6 5 2 4 1 40 30 33
50 9 7 5 3 4 2 50 36 39
63 9 7 5 3 4 2 63 41 44
80 125 105 8.5 6.5 75 55 80 51 54
100 125 105 8.5 6.5 75 55 100 60.5 63.5
125 145 145 105 10.5 95 95 125 715 745
JE)EFRR EERINFR ST XN NERSEBERE, JE) S #E 5| H A FD-A], MO[], MO[JW, MO[JAL, Z7
[, 80, Y59, Y7P, Y7LIW, Y7BALE R 5/ 52
D-]
-XO
A5
=Xl
AR
BHY
349
4 SNC

Best Pneumatics 2 1



A s
ESEE HHXREGHRHES
I I I
(mm
1 . H1(mm)
¥ > )2 y Up=!
Lo 40 | 50 [ 63 | 80 [100] 125 RS 032-0125
D-A9[ VA9V 75 8 9 95| 105|125 o ,
D-ASLYASLIV 53)DBMP1-032
D-M9 VMOV D-MICYMOLTV @BMG2-012
D-M9OW/M9 WV 45|/ 5 | 6 | 6 | 6 | 7 D-Mo[JW/MO WV
D-M9[ JAL/M9[ JAVL D-M9[JAL/M9[ JAVL
D-Z7[ /280 10 10 10 11 11 12 14 D-Z7[/Z80
D-Y59 /Y69 D-Y5[/Y7P
D-Y7P/Y7PV D-y70OW (DBMP1-032
D-YZOIW/Y7TOIWV Bl 6 T T BT D-Y6[/Y7PV
D-Y7BAL D-Y7OWV
D-Y7BAL

E) SR F R R EK M EAER.

D-A9[1(V)/MO[1(V)/MOIW (V)/MOJA(V)LE K354
(DBMP1-032

MRS X LhEHSLAT B ¥ ILP.1328 1329,

&)
/ @BMG2-012

3

<
1 BRTIIE"BI SRR E "R L, TIRMEFXBTINRE, !
| RS P.1263~1371, :
1 A TIESES RS SH5IHAR 8 1
1 D-273, 276 - 1

= 25 T (1
1 o) L= D280 Bl 4 (1) ProEy— "
: D-Y69A, Y69B, Y7PV P, - 1
. . D-Y7ZNWV, Y7ZPWV, Y7BWV = PSRBT 1
I D-Y50A, Y598, Y7P g ) - !
I D-Y7NW, Y7PW, Y7BW = BUHERCBIETR) :
! .

st F A (NC = bl ) Tofidd R BV 1 FF 55 (D-FOG, FOH, Y7G, Y7HZR) ¥ P.1290, 1292,

o ———————————————— = = ]

350

O
2

Best Pneumatics 2 1





